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Algebra 1 CC Midterm Review #2

Date

Directions: Choose the best answer. Answer ALL questions. Show ALL work in column 2. If there is no mathematical work to
be shown, write an explanation or definition to support your answer!

1) When solving the equation 4(3x? 4+ 2) — 9 = 8x% + 7,
Emily wrote 4(3x? + 2) = 8x? + 16 as her first step. Which
property justifies Emily's first step?

@ addition property of equality
2) commutative property of addition
3) multiplication property of equality
4) distributive property of multiplication over
addition
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2) The ages of three brothers are consecutive even integers. Make @ fabie
Three times the age of the youngest brother exceeds the oldest sk ﬁ/lfriteyour Let statement & Equation here
brother's age by 48 years. What is the age of the youngest * (1% ons.cventt 6) A(younyest) = oldest + HE
brother? %+2 U™ ouve. e ven i Y > . .

NTL .__j_t{_'..“?<‘~_ Ny = 2 A - X+ H 44K
1) 14 '>/uur ans wt-lr must f\ *'_L} 3™ cons. even'tt | 2 x % K 52
2) 18 1«_‘){'_' ‘.__'—\.‘_':I'\ ' X X
3) 22 The youngest >

X - =G |
@ 26 biokher 15 26 o 2 Nl
3) Write the three ways to express the inequality represented > -
in the accompanying graph? Interval Notation: (‘ 2,4 ]
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4) Julia went to the movies and bought one jumbo popcorn
and two chocolate chip cookies for $5.00. Marvin went to the let P I R
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5) Ryan can sell fio more thaﬁ"@ raffle tickets for a school
fundraiser. His goal is to makeat least of $1200 in sales. To
win Beats headphones, you must purchase a?5 red ticket. To
win an Kindle, you must purchase a $2 blue ticket. 1f(r)
represents the number of red tickets and (bjrepresents the
number of blue tickets, which system of inequalities
represents this situation?

Annotate to justify you answer choice.
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(1) r+b>400and 5r+2b <1200
@) r+b <400 and 5r+2b > 1200
(3) r+b>400and 5r+ 2b> 1200

(4) r+b <400 and 5r+2b < 1200
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6) Vince can start wrestling at age 5 in Division 1, He
remains in that division until his next odd birthday when he is
required to move up to the next division level. Which graph
correctly represents this information?
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7) Harry has a data plan that costs $10.95 per month plus $.25.
per gigabyte he uses. Nicole has a data plan that costs $12.45 per
month plus $.15 per gigabyte she uses. For what number of

gigabytes do the two plans cost the same?
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8) Using the graph below, state an interval at which the

function is increasing. =) & D
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9) The quadratic function, f{x) and the linear function g(x) are
graphed below. For what values of x does f{x)=g(x)?
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